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Aufgabe Al
Leite ab und vereinfache.
a) f(x)=+3x
d) h@)=Va?r
g) f(x)=vVx+x?

Aufgabe A2

Leite ab und vereinfache.

a) f(x) =sin(2x) b)
d) s()=cos(1-1t) e)

g) s(t)=3sin (1 —%tz) h)

Aufgabe A3

Leite ab und vereinfache.

a) f()=(1+x) b)
d) g =(*-vi)" e)
g) f(x) =2sin?(x) h)
Aufgabe A4

Leite ab und vereinfache.

a) f(x)=Qx+1)(3x + 4)?

c)  f(x)=(15x+6)*(5—0,4x)?
e) fl)=@1-x)V2x

g) f(x)=(1+2x)sin(2x)

i)  f(x) =sin(2x) - cos(2x)

k) f(x)=x?-cos Gx)

b) f(x)=+5x
e) f(x)=+v1+2x
h) f(t)=Vt+t2+1
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c) f@)=+at
f) f(x)=+v1-—x?

f(x) = cos (gx) c)
f(x) = sin(x?) f)
fO) = %sin(\/itz)

fx) =2(x* - 3\/5)2
g(x) = cos®(x)

fe) = (2Vx—x)° c)
f@) = sin* () )
f@) =5 cos*(x)

b) f(x)=(4-4x)*(1—-x)
d) f()=(x—x*)3%*1-3x)?
f)  f(x)=1+2x)V1+ x?
h)  f(x)=(1-x)%cos Gx)
) f(x) =x-sin(2x)

) fen ="
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